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Question Booklet No.

Note : Before answering the questions, read carefully the instructions given on the

OMR sheet. .
S (H)olh amraen (o 0ok, OMR aaren HESSE® adedd drdden erdm
I fatvlele ) |

SECTION - A : MATHEMATICS (#4638 w=9%w0)

1 (6+5J§)-(4—3\/3_) 1S

(1) Rational number (2) Irrational number
(3) Natural number (4) None of the above
(6+5J§)—(4-3J5] oS0

(1) ossedat dong (2) gdedans somg

(3) dres Homg (4) P

2 Which of the following rational number have terminating decimal?
808 T°83S° o) wEsedaH dopg wodHAhg Earoard) SOA dotwod?

7 16 5 2
1) — 2) — 3) — ——
(D 250 ) 225 () 18 ®) 21
3 H.CF. of 2023, 2024, 2025 is -
2023, 2024, 2025 & By 5.3

(1) 2024 (2) 2023 (3) 0 @1

SPACE FOR ROUGH WORK / 9& %08 Séranosads dedn

POLYCET-2024—A ] 1 [P.T.O.

G Scanned with OKEN Scanner



10

POLYCET-2024—A ] 2 ~  [PTO.

If -1, -2 are two zeros of a polynomial 2x° + ax

The value of logg 2 +logg 3 is di

logg 2 +10gs3 @) dend
(1) O (2) 1 (3) 2 (4) 3

Exponential form of log, a=c

log, a=c G Hrd drdhw
(1) b°=c - (2) a°=b 3) a’=c @) b =a

The product of prime factors of 2024 is

2024 Bw¥) (Do seerosee S
(1) 11 x 23 x 32 (2) 23 x 11 x 23 (3)7x23x23 (4) 723 x 112 x 22

Which of the following two sets are equal sets?
1808 Bodh dWHVS® D HAFD Heen?

(1) A={5,6}, B= {5} (2) A={5,6}, B={5,6,7)}
(3) A=1{5,6,7}, B=1{7,5, 6} 4) A={5,6,8}, B={5,6,7)}
{0} 1s a set which has clements.

10} &30 Drosceod SOA &H) 8.

(1) 0 (2) 1 3) 4 (4) 3

If P (1) =11x% - 5x% + 4x* —7x° + 6, then the degree of P(x) 1S

P(x)zl 1x8—5x6+4x4-—7x2+6 L9000, P(x) Gy HOHreaHw
(1) 8 (2) 6 3) 4 (4) 2

2

a and b are

2x3 +ax2 + bx—2 D 25000 6.1»5& Bocth érat'gen -1, -2 oD, a o b c?.méa.

eV e _
(1) 2, -1 (2) -5, -1 (3) 5,1 (4) -2. -1

SPACE FOR ROUGH WORK / 9é& %98 Sérovosads RSB
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11 If o, B are the zeros of the polynomial P(x)=3x%—-x—4, then a-p =

P(x)=3x% —x—4 o aivsd Bu¥) drages o, vowd, o-f =

4

= 4
(1) (2) 3

12 Which of the following equation represent the situation where Kiran bought 5 oranges,

.. the) 1
) i @ 3

7 apples and Harish boughf 2 oranges, 12 apples for same amount of total money?
8865 5 Trdozew, 7 ard) i»bom $8% 2 ardomen, 12 atrdSy BB 28 W8

_ V'
o). 808 DSOS $IIHoIrY) Ardod SDEGHHY J8?

(1) S5x+12y=2x+T7y
(3) S5x-T7y=2x-12y
3 4

13 If

VAN

.
Lo

(2) S5x+7y=2x+12y
(4) S5x+2y=Tx+12y

=—1, then

—==2 HBa -—-———-1 o,
n 5 FOL T

(1) x=4,y=3 (2 x@2y=9 () x=4,y=9  (4) x=2,y=3

14 The pair of equations x+ y=35 and 2x+2y =4k has infinitely many solutions if £ = i
x+y=35 doate 2x+2y =k o REbmre ad 00D FEed $9A doad o, k = 3

(1) 4 - (2) 6 (3) 8 (4) 10
f" |
a, b - | . .
15 If a—' ¢b— where a]x+b] yi+e¢; =0 and a,x+b,y+c, =0 are two linear equations,
2 92 O
then the equations A
(1) have a unique solution | (2) have infinitely many solutions
(3) have finite solutions (4) have no solution
a, b L)
| g?ﬁg ©aDL DT t:rli!c-|-‘35]y+c1 =0 DB Ayx+byy+cy =0 &8 Bodk BHak
JD EEe8B, & D ESeren S
(1) JBE P SOA dotran, o (2) oHodRd Ftden EOA dotron
(3) DOWEDH Fesden EOA dodran (4) D &dved LOR dodd)

SPACE FOR ROUGH WORK / 2& %98 Séranosads RS
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16 The value of p, for which the pair of equaﬁons 3x+4y+2=0'and 9x+ py+8=0
represents parallel lines, 1s
3Ix+4y+2=0 8o Ix+ py+8=0 od LbEbmre udé Shrodd Tped drdodd,
P 0D
(1) T2, (2) 4 (3) 6 4) 12
17 The roots of the quadratic equation x* —4x+4=0 are
X2 —4x+4=0 ob e’ DA &S Qarerren
(1) 4,1 (2) 2,2 (3) -2, 2 (4) 4, 2
18 The sum of the roots of the quadratic equation 3x* —S5x+2=0 is
3Ix? —5x+2=0 &3 55 HabEBe Drere Bndhm
5 -5 -3 3
1) — 2) — 3) — —
(1) 3 (2) 3 3) < (4) 5
19 Sum of the areas of two squares is 625 m?. If the difference of their perimeters is 20 m,
find the sides of the two squares. . |
(1) 20m, 5m (2) 15m, 10 m (3) 20m, 15 m (4) 25m,5m
Bodh F&hdRre Brergo Bodin 625 $.. ) Héy Fode B¢ 20 . wand, @ Bok
Sehdre gherod SHFDID.
(1) 20 v, 5 (2) 15, 10 (3) 20 v, 15 (4) 25,5
20 The discriminant of the -quadr'atic equation 3x% —2x +%=O 1S
3x? —2x+%= ) od 5 oD B350 By N5Eed
(1) 32 (2) 16 3) 0 4) 1
21 Which term of the A.P. : 20, 18. 16. ..... 1s ‘—80°?
20, 18, 16, ..... @3 ©o¥EAS° ‘—80" Adyd HeSEW?
(1) 50 - (2) 5l (3) 52 (4) 53
SPACE FOR ROUGH WORK / & %08 Séranosadd e
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22 How many two, digit numbers are divisible by 3?
3 B 2rAowd Bodose domgen I)?
(1) 25 (2) 28 (3) 30 (4) 36
23 In a G. P. the 3™ term is 24 and 6" is 192, then the 10t term is
28 rHEBS” 3  Hsdn 24° DHBo 6 S HSEn 1927 ewond, 10 H HeSsdw
(1) 2072 (2) 3072 (3) 1072 (4) 1672
24 The common ratio of G. P. : 25, -5, l,_?l, ......... 1S .
25,-5,1, _?l, ........ O HoE QB Dy QS
—1 1 2 3
1) — 2) — 3) = 4) —
(1) 5 (2) S (3) . (4) -
25 The distance between the points (xl, yl) and (xz, yz) is
(X1, ) 080t (x5, ¥,) Dothe Hess drsin Sombek trSs
2 2 2 2
) y(x=x) +(r-») 2) lxp+x) +(r2+ )
2 2 2 2
(3) \/(xz-xl) ~(¥2-») @ lxp+x) =(r2+x)
26 The coordinates of the point which divides the line segment joining the points (4, —3)
and (8, 5) in the ratio 3:1 internally is .
Sodhyen (4, -3) Hdaxw (8, 5) OB bdado Sarpoddnd 3:1 :)a"DgeS" woddorr d2Boh
DothHy) AErds e
(1) 3,7) (2) (7,3) 3) (-7,-3) (4) (-3,-7)
27 The centroid of the triangle with vertices (1,-1), (0, 6) and (-3, 0) is
Docbyen (1, -1), (0, 6) Hoat (-3, 0) ev Bgrenre Ko (Bahesidn By HESQ So|Giw
2L -2 =5 -2 5 2 -5
(1) (3 3) (2) ( 3] (3) [3 3) (4) (3 3)
SPACE FOR ROUGH WORK / & %08 Séroanosadsd ;ma‘m
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28 Area of the triangle formed by the points (-5, ~1), (3, -5) and (5, 2) is
(-5, 1), (3, =5) &bosw (5, 2) &3 DohHos A8 (Bhe: BFregin
(1) 32 (2) 22 (3) 42 (4) 52

29 In A4BC, if DE| BC.2E =2 and AB=5.6 cm, then AD =

CE .9

L0
AABC & DE|| BC.2L =2 spatw AB=5.6 20.5. wowd, AD =

CE 5
MF

-—

A C

e d

(1) 2.8 cm (0.2 ‘@) 2.1 cm (30.2.) (3) 3 cm (0.d.)  (4) 2.4 cm (0o.d.)

30 In AABC, DE||BC.If AD=x,DB=x-2, AE=x+ 2 and EC =x — 1, then the value

of x= ol ek |y
AABC &° DE| BCE?;;AD=x, DB=x-2, AE=x+2 %8080 EC=x-1 wond,

‘X7 end . 3

1

C \{}

(3)2%ans (4) 4

SPACE F(:)fi?;;j ROUGH WORK / & %98 $tronousads gom
tx
()
O

‘O
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31

32

33

34

35

A girl of height 90 cm is walking away from the basc of a lamp post at a speed of

120 cm / sec. If the lamp post is 360 cm above the ground, then the length of her
shadow after 4 seconds is

90 20.50. I S0 8.8 28 Biossin od Ersinm 120 0.5/, Beans® D0 B.
B50z580 I 360 0.0, wand, 4 S0l S D8R @ 2°DE A DY) [
(1) 90 cm (0.0.) (2) 120 cm (0.2.) (3) 160 cm (0.5.) (4) 180 cm (0.8».)

If the ratio of corresponding sides of two similar triangles is 2:3, then the ratio of areas
of these triangles is

Bodh rs (8ghere ©Erd ghare A 2:3 wand, & [Babere Ferge RS
(1) 2:3 2) J2:3 (3) 4:9 (4) 16 : 81

If ABC is a right triangle right angled at ‘C’ and let BC = a, CA=b,AB=c and let p
be the length of perpendicular from C on 4B, then

(1) ep=ab (2) lz:_%_? (3) a*2+t‘.=2=';:a2 (4) None
p a

- oous’m |8zhedin ABC &° eouoin %gim 'C" & Soth. BC=a, CA=b, AB=c

8o ‘C7 2od AB 8 A eowdin P8 p wond

(1) cp=ab (2) —1-2-=—1?_-—6L2 (3) a2+bz=p2 (4) 28 s
P -a

If the areas of two similar triangles are 81 ¢cm? and 49 cm?2 respectively. If the altitude
of the smaller triangle is 3.5 cm, then the corresponding altitude of the bigger triangle
is i B

(1) 9.5 cm " (2) 9em (3) 7 ecm (4) 4.5 cm

Ooth 36 (Bzbere Baregen 81 5.20.2. HB0L 49 3.20.8. D¥) (Bebains® A2 oy

DA 3.5 0.2, wand, 2 (B2heind® ord ©DErd ©odn PEY)

(1) 9.5 20.%. (2) 9 20.5. (3) 7 20.2. (4) 4.5 20.%.
A tangent to a circle touches it in ___point(s). |

(1) one (2) two (3) three (4) infinite
IS HaBS 6Pw e Docdi(e) H¢ $3)3:008.

(1) 28 (2) Bod (3) Brdd (4) eosos

—————————— e

SPACE FOR ROUGH WORK / g %8 Stranosseds gois
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36 There are exactly tangents to a circle through a point outside the circle.
(I) two - (2) three (3) infinite (4) None
)& ar:&*goé‘ e Dna__a‘ Dothy) oo 539:33 mﬁaéom égdgﬁa_aw
AoXrerdw.
14}
(1) Both (2) e (3) edod (4) 6 =&
(V)
37 The length of the tangent from a point 15 cm away from the centre of a Cir(ffl‘%-: of radius
9 cm is ) f; }'
(1) 15 cm (2) 13 cm (3) 11 cm (4) 12 cm
9 20.:0. TN Ko HYEAB oD oo Wod 15 R0.D. ErEINS® 18 Dot Sod.
L, © Dot Hod H)E*d8 Aavwdd B8P FEH : 2;31
(1) 15 20.5. 2) 13 o.b. (3) 11 0.5 (4) 12 2ady.
. (3
38 If AP and AQ are the two tangents to a circle with centre ‘O’, so that LPOQ =110°,
then ZPAQ = ‘
Bod Hexdn&® O’ oS He H)Era8, AP oo AQ en Both H)80wen DBk
ZP0OQ =1 10° o, ZLPAQ = ;Ii
(v}
-
4 v
&
L3
O
P 9, m
> -
-
8
(1) 60° 2) 70° (3) 80° @) 90°
SPACE FOR ROUGH WORK / g 98 Stronosods goto
G
LO
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39 If two concentric circles of radii 5 cm and 3 c¢m are drawn, then the length of the chord

40

41

42

e N

POLYCET-2024—A ] 9 [PT.O.

of the larger circle which touches the smaller circle is
(1) 4 cm (2) 6 cm (3) 8 cm (4) 10 cm

5 0.0, S8 3 0.5 atga’)ﬂgw&& Bodhy ¥ So|¢s ALV ﬁoba:gvm. OOV, W)
D)ED), 9)9B0B DS By Gy arg PGP :
(1) 4 20.qv. (2) 6 20.5. (3) 8 20.qv. (4) 10 o.aD.

Te
Thé area of a sector, whose radius is 7 cm with the angle 72° is
(') )
(use’ n_£2_)
poed 7
(1)z.33 cm? (2) 30.8 cm? (3) 28.8 cm? (4) 57 cm?
H)E Tgrdin 7 0.2, oo DEH Ewin 72° wond, D Brogsn

(n-%z- ©d SDEHL)

-l

(1)c33t~.smh> (2) 30.8 320D,  (3) 28.8 3.0, (4) 57 $.20.5.

If a pght circular cylinder has base radius 14 cm and height 21 cm, then its curved

l_t!

surface area is : (use n=2)
- 7

(1) 924 cm? (2) 2772 cm? (3) 3080 cm? (4) 1848 cm?

25 (5D )Erse6 riin @y ararggin 14 0., HBamw 3 21 0.

28
9

re's 7 ot 22
@35;6, @ PO HSde FTreogin

; (TC=-7— ©d SDE W)

T 1

(11"_;;924 S0 (2) 2772 305, (3) 3080 S0, (4) 1848 5205,

The volume of a right circular cone with radius 6 cm and height 7 cm is

(use R=£)

£y 10 xid
(1):264 cm3 (2) 792 cm?3 (3) 301 cm? (4) 616 cm?
6 wj aD. a‘.iravga"dén 8o 7 0.aD. ) EOAI a8 (8D H)orsey doand) By,
qngaéérma‘m __.(m —273 ©d S5 dw)

(1) 264 .o, (2) 792 .20, (3) 301 20D (4) 616 ».20.5.

1ty SPACE FOR ROUGH WORK / 2 %38 Seronoseds RS
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43

44

45

If a cylinder and a cone have bases of equal radii and are of equal heights, then that
their volumes are in the ratio of

08 Frdin DO Fopd SEED SragREiNG DOk IHH LY s yon. @I,
e HTHOEPmEve AN
(D zls2 2) 2:3 (3) 3:1 4 1:4

If two cubes each of volume 64 cm’ are joined end to end together, then the surface
area of the resulting cuboid is

(1) 128 cm? - (2) 160 cm? (3) 192 cm? (4) 384 cm?

64 Y V0.0. NHBBOIrIN Ko Tod HHHBIVEn BoBen SHBLN BN VED.
oD, HEIBD 187 8B @) SoPrése Drreghn
(1) 128 S0,  (2) 160 S0, (3) 192 30D, (4) 384 $.20.5.

The value of sin2 15° + c052 15° is

Sin2 15°+ cos>15° ). dend

1 1
3)s = - 4) =
(1) 0 @) 1 )5 @ 5
46 A chord of a circle of radius 4 cm is making an angle 60° at the centre, then the length
of the chord is
(1) 1 cm (2) 2 cm (3) 3 cm (4) 4 cm
4 0.2, g0 EOAS 5)B08° 28 amg Bo|o ¥ 60° S0 Bod. VP, © ey PEY
(1) 1 20.qb. (2) 2 20.aD. 3) 3 200.9. (4) 4 20..
47 1If cosec O+ cot 8 =k, then the value of cosecO is
' cosec B+ cot 0=k eand, cosecH BwEy Jewd
2
k% +1 k-1 1
1 2) 0 3) 4) —
(1) = 2) | ) 7 @) -
SPACE FOR ROUGH WORK / dé& %98 Séranobadsd doB
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' ' - + B
48 If A, B and C are interior angles of triangle ABC, then the value of cos( A ; J 1S
- A+ B
A, B Hdoxn C en (8zbo ABC 6°9 wodd SR cos[ 1 ) Q) dend

(5
()

A-B . [ A+ B ¢ 1 iE B

1) cos 2) sin 3) sin— 4) cos—

(1) (2] (2) (2) G) sin O () cos?
A6

49

S50

S1

The value of c0s54° cos36° —sin’54° sin 36° is

0S8 54° c0s36° —sin54° sin 36° A&, Jend
- Lt}
3 &
3 e—
()

1
(4) —=
5 ¥

(1) 0 (2) 1

A boy observed the top of an electric pole at an angle 5:f.3elevation of 60° when the

b
e

observation point is 6 meters away from the foot of the pole, then the height of the pole is

(1) 6 m 2) 642 m B)6Bm (@) >m
Ty V3

&8 2rendd .8 ;)c‘.iJgE ;cooaj'o D 2o Dod 6 . drdoﬁ"%:él Do) od DS
;oaoe;io ® grm:)g_ 60° ésgs §°0008° HOROODY, & ;maio )

1

(1) 6 . (2) 642 . 3) 643 &. & () 'j_i .

From a helicopter a person observes an object on the ground at an angle of depression
30°. If the helicopter is flying at a height of 500 m from Ep;e ground, then the distance

between the person and the object ‘is R
; (¥} 0
(1) 500 m (2) 1000 m (3) 50042 m - (4) 2\%— m
¥4

08 050 Wwod a8 B8 HrD LY a8 HuH 30° Ad)FHos® 50800, PO
w08 FrdLE 500 . JHS* HDhEr G0, 3588 WAL HHD D¢sg Srdin

(1) 500 % (2) 1000 5. (3) 5002 D,

B

SPACE FOR ROUGH WORK / D HAS 'éerc}ploﬁm&é dedo

—
L
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52

S3

54

S35

56

Two boys on the either side of a temple of 45 meters height observe its top at the
angles of elevation 30° and 60° respectively. Find the distance between the two boys?

- 40
(1) 6043 m (2) 4043 m (3) -j—g m @) Fm

45 o, Jréfe 2.8 HAD TP, TP ADBYrD) B wrentd 30° »daxy 60° &8e S o8’
20BDOT . & RS wrend DEg Erso Jo?

: 40
1) 6043 b () 403 8 (3) % %, @ T b

Two dice are thrown at the same time. What is the probability that the sum of the two
numbers appearing on the top of the dice is 132 B

Both ey 280 &°goudo 22008, Todh Vo L0 D)o do 13 edeards
"’mara‘)ge‘s 0es?

1 1 @)ISIFORE = i)is @) 0

One card is selected from a well-shuffled deck of 52 cards, the probability of getting
the queen of diamond is

erthre SO 52 E dng) o Bekod axrdyDyEor &8 56 8, 08 BHok ooed soHards
‘e:')cam‘:gé '

l 3 I 1
(1) 57 (2) %6 ) 56 (4) 13

A Kiddy bank contains hundred 50 paise coins, fifty T 1 coins, twenty ¥ 2 coins and
ten X 5 coins. If one of the coins will fall out when the bank is turned upside down,
what is the probability that the coin is T 5 coin? |

2,8 88 2008 dherry&® 065 50 2ove e Bdwe, ard X 1 Bhwen, 263 T 2 ooBdnen B
D0 5 wBiwen drryan. der)y dolBothen BEHPEr arre)DyEorr a8 B0 B eod,
08 T 5 @i SEard8 Boersed Jos?

2 2 1 1
()3 (2) T (3) 5 4) T3

Rain fall of a town in a week is 4 cm, 5 cm, 12 ¢m, 3 cm, 6 cm, 8 cm and 4 cm, then
the average rainfall per day is

(1) 4 cm (2) 5 cm (3) 6 cm (4) 7 cm
e PEENS® 2.8 Hheo) S0 4 0.Qv., 5 0.2., 12 0.8., 3 D0.2., 6 20.5., 8 0.5,
80X 4 0.0, @ond, 2.8 Serd® Hoesd SIS0

(1) 4 205 (2) 5 2o, (3) 6 20.5. 4) 7 2oy,

e —— .

SPACE FOR ROUGH WORK / 2& 398 $éronoseds SR
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S8

59

60

e

Which of the following is not a formula for arithmetic mean?

&1 (808 TAS® 08Kl HitwdHH Jr|Ein 520 DB?

Zfixr' _fodf_
ST 2
Zf}li;'- [ h=N ]
3 =L |xh 4) | +|———|Xh
XY a+[ 2./ | | A 2h=f— N "

Mode of the data 9, 10, 19, 7, 11, 5, 6, 7. 8. 14. 10. 7. 6 is
9,10, 19, 7,11, 5, 6, 7, 8, 14, 10, 7, 6 &3 Sgrodo Bws). arsmessin
(1) 657¥5 2) 7 (3) 10 4) 19

In a grouped frequency distribution, the formula to find median is

HRE)8 Do:ipidg DerasrB, DeerBin drin

\ (
E‘-i-cf | ~+cf
(1) 7+|-2 x h 2) 1-|2——|[x4
78 ) L 4
n {
"2"'C'f ' Z—cf
(3) I+ X h @) 1-|2——|x#
S L if,
The median of 75, 21, 56, 36, 81, 05 and 42 is
75, 21, 56, 36, 81, 05 ©Bam 42 © DEgASmY

(1) 36 (2) 42 (3) 56 (4) 21

SPACE FOR ROUGH WORK / & 98 Seranosasds dedn
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62

63

64

65

SECTION - B : PHYSICS (:7°8% w&ow)

Convex mirror is used as

(1) Focussing mirror (2) Shayjf}g mirror
(3) Rear view mirror in automobiles (4) Den,h"s;_‘t mirror
& (80 a°e38° Hroersey 58620 BB archoar . E;} |
(1) SoH&se Sd;)ewn‘ (2) '!613053;"65) >0 SEy@ore
(3) erared® 8onb Qg GEy0ne (4) doéf@gé &80
Concave mirrors can produce
(I) Only virtual (2) Only real
(3) Both real and virtual (4) None.
DErs S S8 yETren E)DhH (HADoE o0
(1) dorg 1H3Dowo Hr|Ed (2) Qo3 (530230 Hr(sD
(3) Qe DB ey HSDo=E (4) D st?@
The mirror which always gives diminished image 'i§’
(1) Plano convex (2) Convex mirror
(3) Concave mirror (4) Plane mirror
DROPE DBD (8D @by B8 yeadw XTe
(1) SHhéde Hozrsed (2) %Hozgrsey €56 ea0
(3) Herse8 B8y (4) maﬁ; 56 et
The focal length of a concave mirror is 20 cm. At.what distance the object is placed
to obtain the virtual image? e |
(1) Less than 20 cm (2) At 20 cm
(3) More than 20 cm (4) None _ .
YErs8 66 )0 T°2°g0860 20 R0.2b. wow, DEeg [H8D020H DBYHHEHDH KL BoUSBeR
i) | i)
(1) 20 0.2, 85) 8535 (2) 20 30.0. ¢
« /
(3) 20 0., 85y 5 (4) 26 =%
The midpoint of a thin lens is called i
(1) Optic center (2) Principal axis
(3) Focal point (4) Centre of curvature
e 8o Ay e Dot
(1) &8 Soo * (2) p@mFgo
(3) =® So|c0 (4) Y¥eSo|Ko

. {¥)
____—__——___.____—
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A light ray passing along principal axis of a lens is
(1) Deviated (2) Reflected (3) Refracted (4) Undeviated

508 1Herargo Bowd 1HarreIon 5208 8dmdmn

(1) oo Fochdd (2) HordsHo Bochd (3) HEFsto Do (4) Nsedo ok
In which one among the following cases the convex lens does not give a real image?
(I) When the object is between focal point and optic centre

(2) When the object is beyond the centre of curvature

(3) When the object is between the centre of curvature and focal point
(4) None

& 800 o J0BBY0S" HogrseY Et¥o Jes HBDowO RHYH?
(1) &9 é)bom‘ S8 )8 So|&o WEE SHPD SOV PR
(2) &% HE¥o"So|Kodtd edde HpHD GODKHIPEH

(3) Yz Soto oAy TP g HYHD oI

(4) b s

A convex lens kept in a medium with refractive index less than the refractive index
of the lens behaves like

(1) diverging lens (2) converging lens
(3) plane mirror - (4) concave mirror

Hogrse8 So5°d) 0D HEFHS theado E) S8y HBLSS Do Ko arBEos® oIV
©d T B N Bod?

(1) J80|H86m &r¥o (2) So|b8de E&o

(3) Shde d8y@o (4) Dérsed B8yw0

The focal length of double concave lens having refractive index 1.5 kept in air with

two spherical surfaces of radii R; =20 cm and R, =80 cm is
(1) =16 cm (2) —24 cm (3) =32 ¢cm (4) 48 cm

808 HEK0 heokin 1= 1.5 e Ko BYErsS Sb80 MOS* doswBIB. & Eb¥o @)
Sodh S|Edere HFee argargren SH3m R =20 o.d. 0805 Ry =80 %o0.d.
oY, B&HE rergoddo )OS ?

(1) =16 20.20.  (2) 24 20.5. (3) —32 0.2 (4) —48 20.2.
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72
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74

The formula for refractive index of a prism is | 300
DY HBLSH (HEENILH e

o)

(1)in=—r—7—— (2) n=
) sin(A+D) sin(i)
(") < -
-
e Al A+ D
3) \O 7 | PN sin(A+ D)
ol T o NS o n=———7-=
s [ A ) . sin (A)
2 .
L)
Th% least distance of distinct vision of a healthy person is
(1) ;)'5 mm (2) 25 cm 3) 25 m (4) 25 km
u&‘dgéo&aa‘) ErHHAB DR SR EA ErSHn .
(1)'95 2.5 (2) 25 0.5, (3) 25 &. (4) 25 8.5,
The focal length of a lens having power 4D is
(I) 5cm (2) 15 cm (3) 10 cm (4) 25 cm
se.as":b»:ndgo 4D ©owd, E&¥ Trargodtin
()
(1)(§ (2) 15 20.3. (3) 10 20.qb. (4) 25 20.a0.
The defect In eye vision that people cannot see objects at long distance is
(I)nhypennetmpla (2) presbyopia (3) myopia (4) None
Er8od® ¢y HpHod Srdsd Sos3 8w
(1) 88 &y (2) Seresim (3) EHg8y (4) 26 50
Théférocess of an eye lens to adjust its focal length to form sharp image on retina is
called
(I)cdistinet vision  (2) accommodation (3) cornea ~ (4) pupil

Bé.?av '%J BOGD (D800 D Jé O™ S&E Trergodord) $AD Ao érd: aﬁmé&% oxsaa

bmmdﬂ
(1) )k &y (2) dberén (3) sy aur (4) sHrD

ﬁl-—m*

19
{1

"N .

=

Ur
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77

78

The appearance of red colour of the Sun during Sunrise and Sunset is due to

(1) Dispcrsitm of light (2) Scattering of light
(3) Total internal reflection (4) None
rBPgsano, Arorghon Hhored” gl JHYT SO S°EHI
(1) 508 JgH0 (2) s*08 ﬁbémo
;
(3) Sofrgrods Hordsso (4) 26 s59H
(Y)
The S.I. unit of electrical resistance: is L.
(1) ampere (2) volt (3) f'arad“,_; (4) ohm
dgh IB°go @y S.1. [iredn
(1) es02>a%Hb (2) S (3) P8k (4) &
i}
Formula for specific resistance is U
(7}
233 DB 2B (e e
RA LA 1.8 RL
(D) P=s () P=7 (3) p=7% (4) =1

The current in a conductor is directly proportional to the potential difference between
its ends at constant temperature. This 1s known as ¢

(1) Faraday's law (2) Kirchhoff's law (3) Ohm'silaw (4) Newton's law
¥ ;
E;d d@‘@ﬂé a‘:g 2.8 L0 :)t:bgg e aPan, aPEPEY) Bg__g) wade g ﬁ‘agaﬁes 2orR8

St ErH>S0s® ok, A D JoHHo wobrd. v
1{} '
(1) 68 dovDdw  (2) 865D Jovddn (3) & dovdin  (4) Arghs JoHaw

79 Kirchhoff's junction law is based on conservation of
(1) energy (2) momé_!:i_"gum
(3) charge (4) anguléi" momentum
86775 2:088 VDI ) F°8E 0B A LAD @mmoﬂ :Jmoc)‘?
(1) #§ (2) Lcszgm
(3) e (4) SPedaxs (S¥gResno
e e
SPACE FOR ROUGH WORK / d& %08° g@moﬁm&é B0
(¥}
-
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Calculate the resultant resistance in the following circuit.
& (808 Hoan0d® PO B B0 Jos?

4 Q)
7Q
12 Q2
V
(1) 3Q (2) 10Q (3) 13Q 4) 7Q
81 The instrument to measure potential difference is
(1) Ammeter (2) Voltmeter (3) Galvanometer (4) Wattmeter -
PBINHS Dard) FOV HOEGI
(1) @5:;&)5 (2) 55%553&5 (3) masmb)mﬁ (4) ae5esb
82 The tangent drawn to the magnetic field line at a point gives
(1) magnetic flux (2) current
(3) direction of the magnetic field (4) charge
©@0NI) 0 Bl8 2e00% 28 Do) 6 A5 596,;39_3 &% & Hothyy) S B BenyhHod?
(1) ©aNdr) o8 edardridn (2) egd (Hdorsrin
(3) ®aHar)od B(e & (4) B
83 The magnetic flux passing through unit area taken perpendicular to the uniform magnetic
field is called
(1) Magnetic flux density (2) Magnetic flux
(3) Magnetic field (4) Induced electromotive force
B @008 B|B0S° (Db EE‘E)SIZ; He ([rodo hoar &erd8 eoorr DFh SIA )
Q0L E)?
(1) @) o8 odarsdr Jo(Ees (2) eahar) o8 edadrin
(3) ®aXp08 3|80 | (4) (208 Adgaryol wekw
SPACE FOR ROUGH WORK / 2& &8 Stravosads dem
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86

The direction of the magnetic field lines outside the current carrying solenoid is from
(1) South to North (2) North to South
(3) East to West (4) West to East

ADLE (HHPRD) Do waneé: VD08 2B BF d B d0evod?
(1) &8mo0 Hod ELlele (2) ﬁgdg &o& S8es0

(3) &rtHy 208 H%6 (4) 3698 208 &t

In electric motors

(1) Electrical energy is converted into mechanical energy
(2) Mechanical énergy is converted into electrical energv
(3) Electrical energy is converted into light energy .

(4) Mechanical energy 1s converted into l:ght energy

D8 Brerborst

(1) debogs 48, axro|ds ES Srddod
(2) atro&s 48, Dﬁ)gg 8 Wrdeod
(3) Abg8 48, 508 F8rr Srdehod
(4) avro@¥ 48, 5008 8 rdHeod

Which law states "the induced current set up in the cml IS 1n such a direction that it
opposes the changes i In the flux"?

(1) Kirchhoff's law (2) Lenz's law
(3) Coulomb's law (4) Ohmi law

@) AP0 |Hs*Eo "Sord a‘maﬁoeﬁ‘ 15580 0F Labé 98 (daridro a8 S* SRS
®OOT) 08 @ardrod® wrd) ae.):(n 93 8080Bestw @é&vmo&

(1) 8655 VS TN (2) 8ok 30.13:::&')»
(3) Lrewro davddn ' (4) & dandw
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87 Induction stove works on the principle of b %)

(1) Magnetic induction (2) Electrostatic induction
(3) Electromagnetic induction (4) Electric shock

ROGES IV @ AN B Bod?

(1) ©abaryod (e (2) ¥ DS (axes

(3) hgd waHIy o8 (e ‘ (4) dgd Hreo

88 A conductor of length 'I' i1s moving perpendicular to magnetic field 'B' with a speed
'v'. The motional emf is given by -

1" dHie irgo, 'B' @avdrjod 5e°d8 eoworr V' o8 Shendd)d. ooirs §de
¢5g DD KD Ahgar o 200

B B

(I) Blv (2) Bv?l (3) o (4) i

89 The magnetic force exerted on a 3 m length conductor carrying 2A current when
placed in a uniform magnetic field 0.4 T at an angle 30° is

3 . D), 2A A58 o Ko s 8 04T eabdr) ol wdard Folds Ko S
84% 30° 008" GoDHIPW), @ 86D Senr BaNdd ©ovF)08 B8 200 Jod?
(1) 12N 2) 12N (3) 2.4 N (4) 24 N

90 Which one of the following statements is correct?
(1) AC changes its magnitude but not direction
(2) DC changes its magnitude and direction
(3) DC changes its direction only
(4) AC changes both its magnitude and direction

& (806 @BRBH rseeeS” DB HOTHE?

(1) AC &5 50dreoind Gr(@d Srd)Hotwod 520 BFD 5o
(2) DC &5 &% Hdaxn 0drero Srd)Hotnod

(3) DC &% 8% dr|@d Sréhy%otnod

(4) AC &35 6% Hoaxn H0Hrered Bodotdd drdhHotnod
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91 What is the symbol used in a chemical e

G003 IEEE" DiboeSerrh TALHBGH EFrawD B Emos’ ArDoH D5y s
(1) - (2) « (3) 1 (4) 1

92  Volume occupied by 10 g of hydrogen at STP in litres s

(4) 22.4

93 Quantum mechanical model of atom

was developed by
(1) Neils Bohr

(2) Sommerfeld

(3) Erwin Schrodinger (4) Rutherford
5800 afro(BE HEre Sdoraes (BSIH0DD T0K)
(1) Sy &°5

(2) F2bpsS
(3) =035 @BorE (4) &rebE

94 Maximum no. of electrons In a sub shell is equal to

&8 & 563606" &od (1551 n)og‘jzﬁw K:oa,)rg

(1) 2n? _ (2) n? (3) 221+ 1) (4) 2] + 1
Number of unpaired electrons present in carbon atom
S°E)® HErand)s® GY) 2,080 n)a?)e‘{:sea Qoe

(1) 6 (2) 4 (3) 3

96 Law of octaves was proposed by

(1) Dobereiner (2) Moseley (3) Mendeleef
ORE QOBWIVD (BB BV

95

(4) 2

(4) Newlands
(1) aebss (2) 3% (3) DosdS (4) &rgeroby

present in sixth period of modern periodic table
SHORTRE XIES” 68 BOAHES® 08 Krersee Sopg

(1) 32 (2) 8 (3) 18

97 Number of elements
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98 Which one of the following atom is smaller in size ? '
& 1800 TAS° Sy d HOKr0 o HEErEWY) IO ?
(1) F (2) O . (3) N (4) C
46}
99  lonisation energy along a period from left to right generally
(1) increases (2) decreases r h_: (3) remains same (4) none of the above
©alEEe 48 SBaLBS® ik Hod HBE FHEY Ferdwor
(1) D (2) S (3) &rosy (4) e )
100 Element with atomic number 17 béfongs to
4%: i
(1) VI A group, 2" period £ (2) VII A group, 2" period
(3) VI A group, 3" period “~ (4) VII A group, 3 period
-
SHre dopg 17 He Sreso HI8 ot
(1) VI A (575, 2 % Hoans (2) VII A 15508, 2 & 20006
(3) VI A 1575, 3 % 20008 U1 (4) VIIA (503, 3 % 20008
101 Oxygen gains electrons during the chemical changes.
68yaS SranS Ere HERAgHPH, . Josreded Ko,
(1) 1 (2) 2 3) 3 (4) 4
102 Number of bond pairs and lone pairs in the valence shell of nitrogen in NH;.
NHj &%) 3528 erirg 856° ot 208 801k 2,060 Jos*9S wotsen
(1) 2,2 @ L3 e (331 4) 4,0
103 Bond angle in BeCl, molecule is *’
BeCl, emHéd® woe S
(1) 120° (2) 180° A (3) 109° 28 (4) 107° 48
SPACE FOR ROUGH WORK / 9& %8 $eranosads gomn
r:*%
18
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104

Jonic bond is formed due to transfer of electrons from
(1) metal atom to non-metal atom

(2) non-metal atom to metal atom

(3) non-metal atom to non-metal atom

(4) metal atom to metal atom

@AY 20650 A3 WEE 0T 9D 65O Do 8D
(1) &% HSEred) Dod VS P HEreaHH

- (2) 08 HEPD) Do S HEHrH K

105

106

107

108

109

(3) V&' HBErY) Dod VS e HEErHDH
(4) &°% H8ErY) DHod S HEAPDHDH

Polar covalent bond present in
cﬁe)a“é;éé’e Ho@rezad 2080 E0d

(1) NaCl (2) N, (3) Na,O - (4) HCl
Double bond present in

&g 2080 b

(1) H, (2) HCI (3) N, (4) O,
The colour of methyl orange indicator in basic solution is |

(1) Yellow (2) Green (3) Orange “(4) Red
56 (ordered” DBS edod 8 B Sor

(1) &%) (2) wHHS (3) ok (4) XD
The reaction of an acid with a base to give a salt and water is known as
(1) Oxidation (2) Reduction (3) Neutralization (4) Combustion
5608 o $tg 2282 &%) HBoI K3 JEYET $dg

(1) @g')écso (2) BoX¥dmo (3) e‘séfgédsoo (4) &sdo
Which one of the following is used for disinfecting drinking water?
(1) Baking soda (2) Bleaching powder

(3) Washing soda (4) Plaster of paris

&1 A3 (8o Hor80SErA8 BDH0FBST SHBrACDHO IO?

(1) 280k e (2) Dok b

(3) o20h Jtae (4) 6 & FOD
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110 The process of dissolving acid or base in water is EEALEL

(1) Exothermic process (2) Endothermic process
(3) Neutralisation (4) None of the above
SN Sar PO, DE3S° £6A0TH HBaw

(1) &&Rrus Seg (2) arrsrs €3

(3) .:sex;agcsea S1ef (4) 2 s°ed

L0
111 The metal that occurs in the free form (native) is

(HE)BS” Do RBS* Geggnaly o

(1) Pb “(2) Au (3) Fe (4) Hg
112 Galena is an ore of' -

RO &3O B o

(1) Al . (2) Pb (3) Hg - (4) Zn

i)
. ()
113 In smelting the ore,is

(1) Oxidized ", (2) Neutralized

-

(3) Reduced o (4) None of these
Briodod® redy O

(1) eg‘béboém&o& (2) éé:%;ébozﬁa}daémﬁ
(3) g_wéOoéaJéJéJS? (4) B =2

W) :
114 The hydrocarbons containing only single bonds between carbon atoms are called

d - -

(1) Alkanes «(2) Alkenes (3) Alkynes (4) Benzene
580 HSHrenDe &33 D¥ ogroR Sr(dd 5OA dod FC R AR __ ®otrd.
(1) &8 (2) e 3) g (4) BosS

115 Which one of the following is a ketone?
&s (800 ae38° 86°S Dm

)

0 of
| A |
(1) CH;-C-CH; “(2) CH;-0O-CH; (3) CH;~CH,0OH (4) CH;-CHO

—————
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116 If the hydrogen atom of ~COOH gets replaced by R' (alkyl group)

T34 - qre
obtained.
(1) Acids (2) Esters (3) Ketones (4) Amines
~COOH &) 2r |85 G0N H whenre 'R’ (68) & (D)0 (28D S aw.
(1) esdren (2) Bew 3) 88°8e» 13 (4) ©DSew

ﬁ-’f}

e

117 The number of sigma and = -bonds in cthyne molecule : el

. : : LO :
(I) 1sigma, 1x (2) 2 sigma, 2 (3) 2 sigma, 17 (4) 3 sigma, 2
ABS VeH) S Y DB T - 2ogre dog

L)

D Tamy 1z @2 a2 (3 2 oy 1w (4) 3 By, 21
(¥} |

118 The process of conversion of starches and sugars to CzH;aH is called

(I) Combustion (2) Hydrolysis (3) Fcrmentztticr{fiﬂ'eji (4) Esterification
208 Dororen HdoK 1532,605 VS we) S m &8y (Y8 e
(1) &S0 (2) z0dRhe (3) Seae |8k f_; (4) DOOJTIR
' e
119 Which of the following is an unsaturated compound? :*‘*f
S00 86" eXod )b & 2¥50 0B? :
(1) CH, (2) CH,4 --CH3M“j
(3) CH;-CH = CH, (4) CH, - CH, ;:CH3
-

-

120 The final compound formed when methane react with chloririe in presence of sunlight

is _ Al

b
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&M 3

SECTION - D : BIOLOGY (&wi9)

Which test is performed to identify the presence of starch in leaves?
(1) Picric acid test (2) Iodine test

(3) Nessler's test (4) None of the above
oHod® Dod HEPgry) BB AT 0O o) HBY esthderthrin?

(1) (85 ey HBY (2) o&BraS 58

(3) =69y 668 (4) b 52

In the mouth, the crushed food mixed with saliva which forms a slippery lump is
called?

(1) Bolus (2) Chyme
(3) Peptones (4) None of the above
FES® gy enrr Dondd efdo eroneosd® O Samr, DEM erthd garardy Fod
DEPOPAY D0HE?
&
(1) &R - (2) 3™
(3) 2% (4) b seed>

Which of the following statement is true?

(I) Chlorophyll 'a" is bluish green in colour and Chlorophyll 'b' is yellowish green in
colour |

(2) Chlorophyll 'a' is black in colour and Chlorophyll 'b' is grey in colour

(3) Chlorophyll 'a' is yellowish green in colour and Chlorophyll 'b' is bluish green in
colour |

(4) Both Chlorophyll "a’ and Chlorophyll 'b' are white in colour

8od AS° B HOGD T Egin?

(1) $6°2S - '’ HD esivs) S ot FES - bt wbBsy 5506° G0k,
(2) §'6°S - 'a' Bendy) Ho&” Hoaw §8°S - b’ die os® sotkid.

(3) §'6°2S - 'a' o) esHivsy H80 oo §6°HS - 'b' M ©HHS) HoS® GokD.
(4) 6 - 'a' ooty §'6°S - 'b' Bodh Beng) $6od® dotki.
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124 Choose the correct sequence of steps in Respiration.

(1) Breathing — Gaseous exchange at lungs level — Gas transport by blood —
Gaseous exchange at tissue level — Cellular Respiration

(2) Breathing — Gas transport by blood — Gaseous exchange at lungs level —
Gaseous exchange at tissue level — Cellular Respiration

(3) Gaseous exchange at lungs level —s Breathing — Gas transport by blood —
Gaseous echange at tissue level — Cellular Respiration

(4) Cellular Respiration — Gaseous exchia’ngc at lungs level — Gas transport by
blood — Gaseous exchange at lissue;..lljé'vel — Breathing

785 (Bans® KOS NS e (EMBud> HBoBe.

(1) éw';sﬁ)m‘cg@'m-q &R0 b arah ::.F?;)& — 650 oreor ara Sare — ésaas*wg*' '
O Jr8B — e B Baw .

(2) s &B‘S&w — G50 orgoe arath) Sarere — &R0BHOS® aratny 208 — Swererd®
Ttk 2r0Yd — S FeHBak T3

(3) &RBBDHoS® rath &85 — TG QTR — B8O argUe ok Sarer — Ymererd®
o &r0)8 — o e Bak | 1’:

(4) 8o @gHBav— #OBDOS® Frat ar8)8 — 850 argor wray Sarer—  Swererdt
T Ar0)B — AE)gH dwgrey LD

125 Each ATP molecule gives how much of energy? =
(1) 8700 calories (2) 10800 calories 1(‘3') 7200 calories  (4) 10000 calories A
{3

8 ATPS*® dod 48 dog dotnod? 1)
(1) 8700 srobev  (2) 10800 scoben  (3) 7200 srerdex (4) 10000 sceden

126 C¢H;,04 +60, — 6CO, + 6H,0 + Energ;i'jrhis equation summarizes which process?

(1) Excretion (2) Respiration
(3) Photosynthesis (4) Digestion
CeH 1206 + 60, — 6CO, + 6H,0 + #8. & $Edmo B2 A D0Bd?
(1) g8 (B _ ' @) =gSon
(3) 88mesdg Do@rK B @) 2g8a%
(¥
127 The yellowish straw colored fluid portion—that forms after the blood clot is called
B e i
(1) Plasma (2) Fibrin (3) Serum - (4) Thrombin
880 (SRS Shad DADS KB BuPHBord (Sardy _ eotrd.
(1) 2, (2) A (3) o (4) |2°0dS
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128 What is the name of the valve present on the rigﬁt Auriculo-Ventricular septum between
right atrium and right ventricle called? Y
(1) Tricuspid valve (2) Bicuspid valve (3) Mitral valve (4) Pulmonary valve
) 52590 $H& 28085 DHPgie 0H& 508 238057088 dgressn He Earérdy D20érH?
(1) e Sardoo  (2) odgan Saréxo (3) &S Sardo (4) HDD S Ea°e0
129 Regarding blood pressure, what is the systolic pressure in a healthy young adult?
(1) 80 mm of Hg (2) 20 mm of Hg
(3) 100 mm of Hg (4) 120 mm of Hg
88 5358 H00HOD B $gHoHBY aXnHBauSHoS® WO 53550 Jo& Eotnod?
(1) 80 .2, &6 b0 (2) 20 .8, EBBH axso
(3) 100 .2, 6D xsH0 (4) 120 .. FESH S0
130 Evaporation of water through leaves is called?
(1) Respiration (2) Transpiration  (3) Transportation (4) Circulation
Hero H0oD DG 6B Erod® BewddS oodErd) FoE?
(1) =~ 8ak (2) 28380 (3) Sare (4) |15
131 Deficiency of Vasopressin causes excessive dilute urination. This condition is called?
(1) Diabetes mellitus (2) Diabetes insipidus
(3) Scurvy (4) Beri beri
FARS S0 S EHyd MES fo hr@o edsor RYoBdW. & 28I D0E?
(1) SaHBES DOLS (2) SarBeEt aVYED
(3) %62 | (4) 2630
132 The maximum urine storage capacity of urinary bladder is A
(1) 2000-3000 ml. (2) 50-100 ml.
(3) 10000-20000 ml. (4) 700-800 ml.
fnleedonod® doRore _ Sur(@o Jog 4oénod.
(1) 2000-3000 .9. (2) 50-100 .O.
(3) 10000-20000 .9. (4) 700-800 .O.
133 Kidneys are the excretory organs in which animals?
(1) Amocba (2) Sponges (3) Birds (4) Earthworm
Qr|gbomren @ EHod” AdsTorren?
(1) ©der (2) doésew (3) SPHew (4) eSS0
-
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Which of the! following poisonous, nitrogenous byprroducts are stored in different parts
of the plants?

(1) Tannins (2) Resins (3) Alkaloids (4) Latex

|Bod aré3s® W) ©6° A erred® dweBaXnd Hdadand, DRTOEDH s yoe ) en
DD?

(1) &rdSex (2) BESex (3) woperangs - (4) oS,
= is an endocrine gland, secretes the hormones insulin and glucagon.
(1) Thyroid - (2) Adrenal (3) Ovary (4) Pancreas
AW YOS Dbt (rEmS e HF65 0 O3 JTH(500 [HoS.
(1) Boraws - (2) o8 (3) *p dauss¥o (4) gm0
causes ripening of fruits.
(1) Ethylene (2) Auxins (3) Cytokinins (4) Gibberellins
DO Hereen DS°LAS 2.
(1) =885 (2) &8yQ)y (3) WA (4) 2y
Roots grow downwards, plants respond positively for gravitational force. What is this

called? ,

(1) Phototropism  (2) Geotropism (3) Hydrotropism  (4) Thigmotropism
B 20D B D08, o)y en HhargEdm w00 3 [H80dFow. B dotkd?
(1) 508 03t (2) ddhegoisio (3) Meowssto  (4) syomywssso

bacteria is responsible for the formation of curd from milk.

(1) Bacillus thuringiensis (2) Lactobacillus

(3) Pseudomonas | (4) Xanthomonas
 odod W Sarsdaras 2r80axr & theos.

(1) 208 BT3RS (2) rBarded

(3) 2r8RrsS (4) ero&TrdS

Examples of propagation by stem are :

(1) Stolons and runners (2) Bulbs and corms

(3) Rhizome and tuber (4) All of the above

5°0¢0 G°gO° AN (Hege D 20D dorrderen D72

(1) o Hoatw 836 (2) edaren LB Koo

(3) §"w) day $hod srodo (4) @f()l
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Majority of flowering plants have an embryo sac consisting of .
(1) 7 cells and 8 nuclei (2) 8 cells and 8 nuclei
(3) 7 cells and 7 nuclei (4) 5 cells and 4 nuclei

TP P)oB k) &° Lok o Frgrdmor __59A dotraw. |
(1) 7 Seren 0% 8 éo@sfen (2) 8 Seren 8L 8 Bo|bsren
(3) 7 Seren 00X 7 So|lsren (4) 5 Zeren HOB0XL 4 So|seen

The correct order of passage of spermatozoa is :

(1) Seminiferous tubules - Vasa elferentia — Epididymis — Ejaculatory duct —
Urethra He 3

(2) Seminiferous tubules — Epididymis — Vasa efferentia — Ejaculatory duct —
Urethra -

(3) Seminiferous tubules. ~ Ejaculatory duct — Vasa efferentia — Epididymis —
- Urethra 3

(4) Seminiferous tubulcs;' — Ejaculatory duct — Vasa efferentia — Urethra —
Epididymis o

DOAD DH|Esere (Hore a‘n'do 26?

(1) e 688 >P8en — &Lﬁmﬁ)ém—e RABDI— PO Yo [Hhko
(2) HF’e B8 T08en —» RBADE— H|ETDEew — o Yo |Hudo
3) HEer 88 >Psen qsda.e:zb o DHETVEen - RBEVE— (Hho
(4) D)8 >V8ew — ‘ézrers P05 DH(ETVEen - [HDE0— BABDS

The walls of the food plpe secretes a slippery substance called

(1) Amylase (2) Llpase (3) Mucus (4) B_olus'
UETED Rden OB et HPose B g (B ow.

(1) BBE (2) B (3) én:go (4) 508

From the stomach, the partially digested food (chyme) is released into

(1) Duodenum (2) Large intestine  (3) Small intestine (4) Rectum
Zordao Hod 58 Bra‘c:bé“:’ . odoPrgorr S8 wdfdo @) &°8 AhrseH)E0d.
(1) woghreo (2) mxs s (3) Dby Bxod (4) Hbreo

The phenotypic ratio of F2 generation in a monohybrid cross is
DES0ER0 238D Pk, F2 S0 B8y, By¥gdrd A&nd 34
(1) 1:2:1 (2) 3:1 (3) 9:3:3:1 (4) 2

-
s 1 3
-
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The number _of allosomes in human cell are

Dr558008° Bons 18¥Brstane (allosomes) Sopg .
(1) 2 (2) 4 (3) 23 ' (4) 46

Change in the frequency of genes in small populations is called i
(1) Variation (2) Mutation (3) Genetic drift  (4) Evolution
DY) BreS” By Sorr K0T Sovéxde HOSorr 2dgHo DH:HYeod® drdyen
DB ) ©0erd).

(1) 3go (2) H08% (3) esdog Q?m (4) HdeedO

Occurence of vestigial organs abruptly in human beings is called

(1) Atavism (2) Dwarfism (3) Regeneration (4) Mutation
SrIPOS” 8> H ©F) vsanTen BOA EROSEAy ©0er).
(1) &0 (2) DObersso (3) PIOSEB  (4) DD

The process of entry of pollutants into a food chain is known as

(1) Restoration (2) Bioaccumulation

(3) Biomagnification (4) Food web

SFEY Fendd® srendrgen V@A) 0.

(1) HIHEEe (2) 228 Sgdrasto

(3) B8 5&%55@ (4) &58H) do

Seeds from ___plants are used for the production of biofuel.

(1) Jatropha (2) Chrysanthemum (3) Hibiscus (4) Cuscuta
25 RoEHo BSB8 __ ) BwE) e Trderd.

(1) e& (2) oeHod (3) Hood (4) 8y gt

Coal, Petroleum (oil) and Natural Gas belongs to which type of fuels?

(1) Chemical fuels (2) Bio fuels

(3) Sunlight - (4) Fossil fuels
0, DS OaNo DB e raLHEy &) E5°I8 BodY BotTren?
(1) SroHE aotsaren (2) 225 a0tsaren

(3) wrogsod (4) 3ere motmren
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